A BIFRBY7A

Bt R:SF07E48208 HEHVNI—05T
NERL K % OUT| IN | GR HDCP NET 5% NEfL K % OUT| IN | GR HDCP NET 55 JEfz| K 4% |OUT| IN | GR HDCP NET e
40 | 45| 85|19.0 | 66.0 |AE 51 |EA E=E 49 | 46 | 95| 17.0 | 78.0 101 /h& BB 52 | 55 (107 | 22.0 | 85.0
50 | 48| 98|30.0 |68.0 AE INX v k33 52 |LE £ 49 48| 97 |19.0 | 78.0 102 |fIEE = 51 | 54 105  20.0 | 85.0
41| 43| 84|16.0 | 68.0 |AE IN*Xv F35BG | 53 |fE &R 50 | 49| 99 |21.0 | 78.0 103 |dhff  FOFK 47 | 58 105 | 20.0 | 85.0
43 | 47| 90|22.0 | 68.0 |AE INX v k36 54 |FAK K 49 | 49 | 98 20.0 | 78.0 104 B B& 56 | 49 |105  19.0 | 86.0
39| 50| 89 |21.0|68.0 A& IN*v +39.5 55 &R 51 | 52 /103 |25.0 | 78.0 105 {£4A =3I | 50| 53103 | 17.0 | 86.0
50 | 49 | 99 ]30.0 | 69.0 56 |AE ER 48 49| 97 |19.0 | 78.0 106 |k = 50 | 55 105 | 19.0 | 86.0
38| 55| 93|24.0 | 69.0 57 [T —3T 48 | 51| 99 |21.0|78.0 107 |5 BE 57 | 531110 | 23.0 | 87.0
48 | 47| 95 |25.0 | 70.0 58 |t1E k& 47 | 50| 97 |19.0 | 78.0 108 Ak B— 53| 51 (104 | 17.0 | 87.0
48 | 49| 97 |27.0|70.0 59 TR —} 46 | 50 | 96 | 18.0 | 78.0 109 =@ BN 54 | 531107 | 20.0 | 87.0
43| 49| 92 |22.0 | 70.0 60 £ BR 54 | 44| 98 (19.0 | 79.0 110 X * 49 | 55 (104 |17.0 | 87.0
41| 49| 90 |20.0 | 70.0 61 [#MA #&F 52 | 44| 96 |17.0 | 79.0 111 M B 50 | 56 106 | 19.0 | 87.0
38| 49 | 87 |17.0|70.0 62 EHE “E 50 | 50 100 | 21.0 | 79.0 112 |&F # 54 | 53107 | 19.0 | 88.0
51| 44| 95|24.0 | 71.0 63 fhA K& 48 | 54 1102 | 23.0 | 79.0 113 |&8H =81 51 | 56 /107 | 19.0 | 88.0
43| 48| 91/20.0|71.0 64 | F 44 51| 95|16.0 | 79.0 114 £ #E 49 | 57 |106 | 18.0 | 88.0
42 | 49| 9120.0|71.0 65 |ZH FIk 57 | 48 105 | 25.0 | 80.0 115 £ M= 59 | 53 (112 | 23.0 | 89.0
46 | 54 {100 |29.0 | 71.0 66 |FR 1% 53 | 51 104 | 24.0 | 80.0 116 |f0iE 5% 55 | 54 109 | 20.0 | 89.0
50 | 41| 91|19.0|72.0 67 |# A 53 | 51 104 | 24.0 | 80.0 117 |BfE F&k 53 | 54 /107 | 18.0 | 89.0
45 | 45| 90 |18.0 | 72.0 68 |EX FEX 49 | 48| 97 | 17.0 | 80.0 118 &t i@k 52 | 56 108 | 17.0 | 91.0
49 | 53102 |30.0 | 72.0 69 FEE =40 53 | 52 105 | 25.0 | 80.0 119 @k FEE 56 | 63119 28.0 |91.0
49 | 53102 |30.0 | 72.0 70 [ZHE #8E 52 | 51 /103 |23.0 | 80.0 120 |BE & 58 | 51 /109 | 17.0 | 92.0
46 | 44| 90 |17.0 | 73.0 71 B & 48 | 49| 97 |17.0 | 80.0 121 dhff &= 59 | 56 [115 | 23.0 | 92.0
46 | 45| 91 |18.0|73.0 72 NHE f#& 47 | 52| 99 | 19.0 | 80.0 122 |4l RB— 62 | 60 122 |30.0 | 92.0
44 | 45| 89 |16.0 | 73.0 73 &% &EA 46 | 52 | 98 18.0 | 80.0 123 |=&s A 49 | 64 (113 ]21.0 1 92.0
42 | 48| 90 |17.0 | 73.0 74 IR TEXZ 46 52| 9818.0 |80.0 124 |52 JBE— 60 | 56 |116 | 23.0 | 93.0
25 B BT 42 | 49| 91]18.0|73.0 75 BN 46 | 57 |103 | 23.0 | 80.0 125 |#/RH B 61| 52 (113 |19.0 | 94.0
26 |EfE == 49 | 48 | 97 |23.0 | 74.0 76 EA Etf 57 | 52 109 | 28.0 | 81.0 126 £F =R 58 | 53 111 | 17.0 | 94.0
27 |ZxH iEF 45 | 48| 93]19.0 | 74.0 77 [HR)Il BsE 51| 48| 99 |18.0 | 81.0 127 8B REB 68 | 70 (138 | 30.0 |108.0
28 |AK ik 50 | 54 104 |30.0 | 74.0 78 &% LS 48 | 49 | 97  16.0 | 81.0
29 | —1= 43| 49| 92 |18.0 | 74.0 79 2R ®&& 48 | 49 | 97  16.0 | 81.0
30 |BEEH EA 42 | 51| 93/19.0 | 74.0 80 |+EB 53 | 57 [110 | 29.0 | 81.0
31 |18HF =5 42 | 51| 93/19.0|74.0 81 |EZ &Eh 52 | 56 108 | 27.0 | 81.0 aikE BRI 5% | 44| 50 | 94 28.0 | 66.0 [#SH0
32 |luAx EE 44 | 55| 99 |25.0 | 74.0 82 |pBH EX 46 | 52 | 98 17.0 | 81.0 aREEE M2 50 | 49 | 99 |30.0 | 69.0 [#1&HN
33 ey =k 48 | 44| 92 |17.0 | 75.0 83 |ILA& #E& 46 | 58 104 | 23.0 | 81.0 aRE B Rig 45 | 49 | 94 |24.0 |70.0 |#1&M
34 |BFA ERE 53 | 50103 |28.0 | 75.0 84 |FE RiC 55 | 49 [104 | 22.0 | 82.0 aRm ER K 46 | 47| 93|22.0|71.0 |#1&mM
35 |@H  BEA 48 | 47| 95 |20.0 | 75.0 85 H+ E=F 56 | 56 112 | 30.0 | 82.0 aRE A NB A7 | 44| 91|17.0 | 74.0 |#1&m
36 =% H—H 45| 46| 91 |16.0 | 75.0 86 | AN 49 49| 98 16.0 | 82.0 g B X 49 | 52101 | 27.0 | 74.0 |x1&M
37 |kHE =R 48 | 49 | 97 |22.0 | 75.0 87 |HA A 49 | 531102 | 20.0 | 82.0 aiRm Bk Bk 48 | 50| 98|23.0|75.0 |&#& [2024.6])
38 BAH AE 45| 46| 91 |16.0 | 75.0 88 |t 5 47 | 53100 | 18.0 | 82.0 aRE/NR  EHE 48 | 52100 | 25.0 | 75.0 |#1&M
39 |ILA BB 51| 50 (101 | 25.0 | 76.0 89 BB % 46 | 55101 | 19.0 | 82.0 aRE SR e 51| 47 | 98 19.0 | 79.0 |&#& [2022.7]
40 (B4 K W2 47 | 47| 94 |18.0 | 76.0 90 AKRE A 45 | 55100 | 18.0 | 82.0 aRE)l0 F= 53 | 58 111 | 30.0 | 81.0 (#1&hn
41 =38 BEAE 52 | 54 106 | 30.0 | 76.0 91 MM & 54 | 51105 | 22.0 | 83.0 aem LE BT 54 | 61 /115 | 19.0 | 96.0 |&#& [2024.6)
42 \'BH B 44 | 48| 92 |16.0 | 76.0 92 |MML AfE 55 | 52107 | 24.0 | 83.0 aRE ey Ei 72 | 52 [124 | 20.0 |104.0 |[B#& [2024.9)
43 |BIBE —3A 44 | 48| 92 |16.0 | 76.0 93 |/NE {E1T 57 | 56 113 |30.0 | 83.0
44 \WE 46 | 52| 98 |22.0|76.0 9 |/NAE HB— 49 50| 99 |16.0 | 83.0
45 |\BEH Mz 41| 53| 94|18.0|76.0 9% FEA ME 47 | 54 101 | 18.0 | 83.0
46 |HH #FH— 51| 48| 99 |22.0 | 77.0 96 KkFHF S 47 | 55102 | 19.0 | 83.0
AT FEBE & 49 | 51100 | 23.0 | 77.0 97 &R FHik 56 | 48 |104 | 20.0 | 84.0
48 |7 &— vF# | 50| 53103 |26.0 | 77.0 98 |EM =&, 51 | 54105 |21.0 | 84.0
49 \\XF E 46 | 50 | 96 |19.0 | 77.0 99 M IEXE 48 | 52 /100 | 16.0 | 84.0
50 Bk = 44 | 51| 95|18.0|77.0 100 |[BE 1E— 47 | 55102 | 18.0 | 84.0
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